#include <iostream>//255|
using namespace std;

int main()

{

int a, b, n, aux;

RS

cin »>»> n;

WSS

a=a;

b=1;

for (int i=1; i<=n; i++)
W WS S

{

cout << be<g "M
S
aux= atb;
R
a=b;
b=aux;
i
return &;




#include <iostream>//424
using namespace std;
int main()
{
long long a, b,n;
cin>>a>>b>>n;
if(a>b)
swap(3,b);
while(b<=n && -n<=b)
{
cout<<lll*a<<™ ";
long long aux=111*athb;
a=111*b;
b=111*aux;
}
cout<<lll*a;
return ©;




#include <iostream>//423
using namespace std;
int main()

{

ink a2, b,ns
cin>>n;
a=1;

b=1;
while(b<=n)

{

cout<cac<’ '
int aux=atb;
a=b;
b=aux;

}

cout<<a;

return ©;



#include <iostream>//2420
using namespace std;

int main()

ink n;
gin >> n;
int sum=e;

:

for(int i=2;i<n;++1)
{
sum=sumtn/d;
}
if(n==1)
cout<<n;
else
cout<<sum+n+l;
return ©;




#include <iostream>
#include <fstream>

using namespace std;//3266

ifstream in("sirl47.in");
ofstream out("sirl47.out");

int main()
{
gk x;
while (in >> x)
if (x %3 ==1)
out << x << ' ';

k]




#include <iostream>
using namespace std;//1464

long long int p,k;

int main()
{
cin>>p>>k;
long long int j=k/2;
if(k%2)
cQuUt<<p+]j*36;
else
gout<<pt+j*le+(j-1)*20;
return 9;




#include <fstream>
using namespace std;
ifstream cin("fibo@.in");
ofstream QQHE("FiboB.out");//317Q
int main()
{

K X Y, ghk = 05

while(gin >> x >> y)

if(y % x == 9)

cnt++;

AT ATV S
cout << cnt;
WAL WD
return 9;




